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@ One ovening before sunset two friends
and Rajeey were talking to each
face to face. If Rajeev's shadow
was exactly 1o his right side, which
direction ways Joseph facing 7
(1) North
25 Bouth
(%) Wost

(4) Data inadequate

= 1y m'igm

5. Which of the following was recently
recognized as one of the largest
Pelicanry in the world 7

(1) Neelapatiu bird sanctus ry
(2) Uppalapadu bird sanctuary
% bird sanctuary
Majira wildlife and bird sanctuary

@Which o the following statements is
incorrect st the New Delbi ntermationa)
Arbtitration Centre (NDIAC) 7

(1) It will be an autonomous institution
of national importance
(2) It will have seven members including
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@ India imported maximum erude oil
from which of the following countries
during the period 2017-2019 ?

M\Saudi Arabia
(2) Iraq

(3)/ /I ran

(4) Venezuela

9. Which among the following can be
classified as a clinical application of
stem cells ?

(1) replace or repair injured cells in
patients

(2) organ regeneration

(3) artificially produce germ cells
(Sperm cells and egg cells)

(47 all of the above

10. What was the main objective of the
Pratiharas and the Palas in the
tripartite struggle witnessed during
this period ?

(1) To control the trade route through

the Ganga
(2) To reduce Kanauj to a feudatory

state A _
(3) To establish supremacy over Kanau)
(4) To prevent Rashtrakutas from

capturing Kanauj

@ Consider the following statements

regarding Humayun :

A. He was defeated by Sher Khan in
the battle of Khanua in 1540.

B. Withhelpoflraninnnﬂeheaptured
Delhi in 1555 A.D.

Choose the correct option from the

codes given below.

(1) Aonly

(2) Bonly

(37 Both A and B

(4) None of the above
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12. Who was the founder of the ‘Drain
Theory’ which, among others, exposed
the constant drain of wealth from India
to England ?

(¥ Dadabhai Naoroji

(2) Gopal Krishna Gokhale
(3) R.C. Dutt

(4) S. N. Banerji

13. Jana Gana Mana was translated by
Gurudev Rabindranath Tagore from
Bengali to English in

(1) 1896 — Calcutta
(271919 - Madanapalle
(3) 1911 - Calcutta

(4) 1947 — New Delhi

@ Who drew up the earliest Land Revenue
Settlement for Bengal ?

(1 Robert Clive
/(2{ Warren Hastings
(3) Lord Cornwallis
(4) Henry Vansittart

15. Who of the following has the power
to regulate the right of citizenship in
India ?

(1) The Prime Minister

{2/ The Parliament

(3) The Supreme Court

(4) The Cabinet Committee comprising
the Prime Minister, Home Minister
and Minister for External Affairs
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16. Making a Constitutional provision

for Local Government can be best
explained as an exercise in

(1) Delegation of Powers

27 De-concentration of Powers
(3) Democratic Decentralization
(4) Building a Confederation

17. The Legislative Council in Andhra
Pradesh abolished in 1985. Who was

the Chairman of the Council when it
was abolished ?

(1) K. Rosaiah

(2) Karanam Ramachandra Rao
(3) Sayed Mukassir Shah

(4) C. Janga Reddy

18. Consider the following statements :

A In 1956, the Andhra Pradesh
Legislature was Unicameral with
only a Legislative Assembly.

B. Sr1 Konda Lakshman Bapuji was
elected as the first Speaker of

the Andhra Pradesh Legislative
Assembly.

Of the above, the identify the incorrect
statement.

(1) Aonly

(Z) B only

(3) Aand B
4 Neither Anor B

19. Andhrz Pradesh has had both Legislative
Assembly and Legislative Council for
many years. Who among the following
for both the Houses of Andhra Pradesh
Legislature at different periods of time ?
(1) P. Ranga Reddy
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@Awfomtumnmthatu
(1) Totally under government control
(2) Meant mainly for the tribal people
(3 Earmarked for commercial
exploitation with restricted grazing

(" Without any economic activity

21. Which among the districts of Andhra
has the longest coastline ?
tham

) Visakhapa
(2) Srikakulam
3)

(4) Nellore

22. Consider the following statements -
A. Severe Acute Respiratory Infection
18 & respiratory disease caused by a
Corona virus.
| B. COVID-19 is the term coined by
| the International Committee on
’ Taxonomy of Viruses.
m .
A
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28. The difference lwtwumWW\Msakﬁhi'ed}h?%ﬁo“*Q 41

number and the number obtained

by Interchanging the two digits of

the number is 27, If the sum of the
two digits of the number is 11, then

what is the original number ?
74

(2) 83
(3) 65
(4) 85

29. Inan examination Mahesh secured 336
marks out of maximum marks, If the
maximum marks had been converted
into 600 marks, he would have secured
224 marks. What was the original
maximum marks of the Exam ?

(1) 800 )
(2) 850

(317900

(4) 950

Note (Q. No. 30 - 33) :
The sentences in this section may contain
errors in grammar, usage, choice of words

or idioms. Either there is just one error in a
sentence or the sentence is correct. Choose

the incorrect word/words from the choices
given after the sentence :

30. IfT were you, I would never permit him
to take part in such an exhausting and
painful activity

(1) were you
(2) him
(3) exhausting and painful

(4o Error
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(3) 65
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(1) 800 2ae — 224

2) 850 eI - o0

(3) 900 S 860

(4) 950 s
2t
™

Note (Q. No. 30-33) :

The sentences in this section may contain
errors in grammar, usage, choice of words
or idioms. Either there is just one error in a
sentence or the sentence is correct. Choosge

the incorrect word/words from the choiceg
given after the sentence :

30. IfI were you, I would never permit him

to take part in such an exhausting and
painful activity

(1) were you

(2) him

(3) exhausting and painfuy]
(4) no Error
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education came under public
scrutiny, st}ggestions for upgrading
the profession are abounding,

(1) Ever since

(2) Quality

(3) upgrading

(4 are abounding

32. If anyone cares to join me in this

campaign either now or in the

near future they will be welcomed
gratefully

(1) If

(2) to join
(3) either
(4) they

33. Match the following idioms under List — I

with their meanings given under List —IL.

List-1I List - II
A. To put one’s 1. To applaud
best foot forward  somebody
generously
B. To give 2. To force one’s
somebody a big way
hand
C. To elbow one’s 3. To inflict
way similar
punishment
D. To give an eye 4. Todoone’s
for eye best
5. To cheat
somebody

www.sakshieducation.com
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31. Ever since the quality of teacher

the qunlil,y of teacher
me under public scrutiny,
ading the profession

Eyer since
education ca
suggestions for upgr
are abounding.

(1) Ever since

(2) Quality

(3) upgrading

(4) are abounding

If anyone cares tO joillgite in thie
: A either now or 1n the
near future they will be welcomed
gratefully

(1) If

(2) to join

(3) either

(4) they

Match the following idioms under List -1
with their meanings given under List —1IL
List -1 List - 1II
A. To put one’s 1. To applaud
best foot forward  somebody
generously
B. To give 2. To force one’s
somebody a big way
hand
C. To elbow one’s 3. To inflict
way similar
punishment
D.Togive aneye 4. Todoone’s
for eye best
5. To cheat
somebody

(1) A-4,B-5C-2,D-3
(2) A-2,B-3,C-5D-1
3 A-4,B-1,C-2,D-3
(4 A-4,B-2,C-1,D-38
(A
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34. Consader the owing owww.saksh

A The YSR Akshaya Patra Scheme |
' & scheme that provides Mid-day _

meals in Schools.

YSR Pension Kanuka seeks to
Provide a monthly pension to old
Age Pu'wns. widow, Toddy Tappers,
Weavers, Single women. Fishermen.

Traditional Cobblers to ? 2.250/- per

month.

Which of the above statements are
true ?

(1) A only

@TA&B

(3) B only
(4) Neither A nor B

35. Asperthe Andhra Pradesh Reorganisation
Act, 2014 the total control over Srisailam
to both the States of Andhra Pradesh and
Telangana should be given to
(1) The Krishna River Management

Board

(2) The Godavari

River Management
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47, Conmidoy the ’”“”WIH;I_ slalamonty

A The distunce over which datn i
o translorrod vig Blustooth i
prontor thun that of Neouy Field
Commumention (NI'CH (e whnology,

B Data over NIFC enn e cneryplod
while dnta on Blustooth eannot be
lneryptod,

Which of the above statements io/nre
corroct 7

(l) A only

(2) b only

u}( Both A and I3

(4) Neither A nor B

8. A foult in a computer program which
prevents it from working correctly is
known as

(1) Booting
(ZfBug

(3) Phishing
(4) Spam

39. Which one of the following is correct
about “E-commerce” ?
(1) It involves issuance of important
business reports in the Internet

(2) It keeps track of paper based
transaction in the Internet

(3) It supports decision making
processes through public opinion

My It conducts business over the
Internet

40. Which of the following Rig Vedic gods
acted as an intermediary between the
gods and the people ?

(1) Indra
(2) Varuna
(3) Marut

(3 Agni
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ki :
(L Neoti ( handrika was written by
1 < 4 4 ' 1 s
(" Paravasthu Chinnaya Suri
8} )
() Dharmavaram
Rumukrishnumuchm‘yu
(3 Kolacholam Srinivasa Rao
(D Tadipatri Ragl y
I taghavacharyulu

12. Who of the following Scientists /
Technologists from Andhra Pradesh is
credited with the discovery of Diethyl
Carbamazine (DEC) popularly known
as "Hetrazan' a drug that was used by
WHO against ‘Filariasis' ?

(D Dr. K, L. Rao

(2) Dr. Y, Nayudamma

(@ Dr. Yellapragada Subba Row
() Dr. AL S, Rao

43. The bill to create new state must be
approved by the Parliament with
(1) a special majority
(2) a special majority with ratification
of the concerned states
(1) a simple majority with ratification
of the concerned states

() a simple majority

44. The Constitution bans :
A. The state from conferring titles.
B. Citizens of India from accepting a

title from a foreign state.

Which of these statements is/are
correct ?
(1) A only
1B only
(3) Both Aand B
(4) Neither A nor B

VSEAAS
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47. Who launched the National Rural

Health Scheme in the year 2005 ?
(1) Anbumani Ramadoss
(2) Dr. Manmohan Singh
(3) Lakshmi Panabaka
(4) Dr. A. P. J. Abdul Kalam

www.sakshieducation.com
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456. Which one of the ‘"“”W“ll{ functions 4B. o0 400 0, ey ,',1 - 0h%aDs
of the Vice-President 44 ex-officio o “"‘r-"" G 5ol W D08
Chairman of the Rajyg Sabha has been (ex-officio) &= T
wrongly hsted ? Nt 1
(1) He presides over the me ‘ » VRSN SOOR
) etings of ook RPRALS, T,
the Rajya Sabha and conducts ite (1) oeyoek o et 1
business. HGpT LA
2) He protects the privileges of the (2) Cred g o S
members of Rajya Sabha. v
A
{3) He can dissolve the Rajya Sabha. (8) Cresgsesy Gl OB
(4) Acting as the spokesperson of the (4) orsd Baboks EEE, ey BoYE
Rajya Sabha to the President and & v
the Lok Sabha. @AM Sy S Boieo
46. From the Directive Principles of State | 46. orergriod’ Fotsbls LA T T
PO'lle enshrined in the Constitution oo Bods (BT &R DT s SO0y
it 18 possible to derive two dominant < KoBoSod,
goals of economic policy. They are SOy, Tedd) HQODo
A. To give the right to the private A. (‘?fpef olfo ATy BOPOS> Tr20d) JSgre
sector to establish and administer B ),
educational institutions. B ol .
: ’ 20K esTPOSTPAy DOWED
B. Increasing the National Income. a
. R o
C. To safeguard public property. C. @oen eipo 5005m
D. Improving the distribution of D. erdan esorosrd) wod PEoss Hodd
Natxc;)nal Ir;cc:;lme among the 5000
members of the society.
% (1) A 58050 B
(1) Aand B @ B
¢ B and C C
(3) Band D (3) B 0am D
(4) A and D (4) Abano D

47. 2005 &° er&axs &8s 205 S

F"60Dodisd

(1) wsysoedorSons

(2) &1 5083755 %0k

(3) of; ssers

@ el wepd s

(A)
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8. In our social life we come SRS ISHUSAIODGP T 00 4ocsr gt o8 50

i
|

1erm creating ‘stereotypes’. Which

of the following would be the most

APPYoOpriate meaning of the term

“stereotypes” ?

(1) Judging other people negatively or
so0 them as inferior

W& fixing people into one image

K] ﬂo»ln' people from taking part
In certain activities and taking up
jobs

(4) Judging other people positively and
seeing them as superior

19. Which of the following States are partios
to the Cauvery water sharing dispute ?
(1) Tamil Nadu, Karnataka and Andhra

Pradesh

(4) Telangan
Nadu

@ Tamil Nadu, Karnataka and
(3) Tamil Nadu, Andhra Pra and
KOI"I.‘._! e s @

"

t
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(1) 30tes 0t prooice, 70 3 4%
&7 ey A otk

(2) Poos 2o tgold’ Lk

(8) (oo £ Tegires Sook SEH80C
e

(4) qocoei diePe Sypeod’, Iy TOT
e

49, 550 B0 woo Bobdd Dooresy SOh Gy
oP.
(1) B, Bt oo oGhSEn
(2) WhAf o, st Sobiios U
(3) B, oGk obaih: B0

(4) Doorv, St bk BUAIT D

B0, &e $ob O ot b HEpl rodd’ sk
75050 pleo ool 1
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PART - B

51. The skidding away of the vehicle on

a level circular path can be avoided
if the force of friction between the
wheels and the ground is

the centrifugal force.

(1) Less than

(2r Greater than

(3) Equal to

(4) Data insufficient

52. Buoyant force is

(1) the resultant force acting on a
floating body

(21 the force on a body due to the fluid
surrounding it

(3) equal to the volume of liquid
displaced

(4) none of the above

53. In centrifugal pumps, maximum
efficiency is obtained when the blades

are
(1) straight
(2) bent forward
(3) bent backward

(47 radial

54. The horizontal portion of a step in a
staircase, 18 known as
(1) Rise
(2) Flight
(3) Winder

14)/ Tread

angular and lineg,

- en Lh‘:
55. Wh re r;qually precise jp

measur‘;mcntb a ’ .
traversing, the balancing of a travers,
is done by
(1) Transit rule
2y Empirical rule
3) Bowditch’s rule

(4) None of the above

56. Apoint P'is above Horizontal Plane (HP)
and in front of Vertical Plane (VP). The

point is In

OIO/First quadrant

(2) Second quadrant

(3) Third quadrant

(4) Fourth quadrant

57. The working from whole to the part is
done in surveying in order to ensure
that

(1) Survey work is completed more
quickly

Q))(Number of errors is minimum

(3) Plotting is done more quickly

Errors and mistakes of one portion
do not affect the remaining portion

Maximum impulse will be developed in
hydraulic ram when

(1) Waste valve closes suddenly
(2) Supply pipe is long
€7 Supply pipe is short

(4) Ram chamber is large
@

www.sakshieducation.com
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59. The volute

pumps are

pumps with _shaft.

(1) Multistage, horizontal
2) Multistage, vertical

) Single stage, horizontal

«) Single stage, vertica)

s

60. When 1 em on g map represents

10 m on the ground. the representative
fraction of the scale is

(H1:10
(2) 1:100
m:IOOO

(4) 1:10000

61. In operation, the chip thickness is
minimum at the beginning of the cut
and it reaches to the maximum when
the cut terminates

(1) Conventional milling
(2) Climb milling

(3) Face milling

(4) End milling

62. What'-&rhﬁonoftotal pressure

with depth for any submerged surface
i we negleet variation in the density ?

WW.Sakﬁh@{QaJ.l_g‘Q‘iﬁgm auxilinry view 18 @

projection off of the
(1) Front view
(@ Top view
(3) Primary auxiliary view

(4) None of the above

64. Station point is defined as

,u*)/The position in which the

instrument is set up

(2) The position of the observer
that determines the perspective

rendering
(3) The position of the object
(4) None of the above

Dynamic friction as compared to static
friction is

(1) same

(4) may be less or more depending on
nature of surfaces and velocity

66. Stress strain relationship for Newtonian
fluid is
A1) Parabolic
(2) Hyperbolic
(3r Linear
(4) Inverse type

www.sakshieducation.com

(A)




67. These maps are used in planning
H\.‘l.“”.‘l“()”.‘i()I.ll'!‘(‘s‘ ahrl]l)hcry dr]'v(._\s
and other garden features

(1 Landscape maps
(2) Engineering maps
(3) Topographic maps
(4) Cadastral maps

@;\’}use line in a chain survey
Checks the accuracy of the
framework

(2) Enables the surveyor to locate the
interior details which are far away
from the main chain lines

(3) Fixes up the directions of all other
lines

z(?ﬁYAll of the above

The materials which exhibit the same
elastic properties in all directions are

called

Mlomogeneous
(2) Inelastic

j,?)/ Isotropic

(4) Isentropic

70. When the line is parallel to both
Horizontal Plane (HP) and Vertical

Plane (VP), we can get its true
length in

(1) Front view

@7 Top view

(3) Both (1) and (2)

(4) Side view

www.sakshieducation.com
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71. The fluid gains
through the impeller

(1) Velocity

(2) Pressure

(3) Temperature
MV’elocity and pressure

792. In a singly reinforced beam, if the

permissible stress in concrete reaches
earlier than that in steel, the beam
section is called

(1) Under reinforced section

IZ{Over reinforced section

(3) Economic section

(4) Critical section

73. One horsepower is equal to
(1) 102 watts
(2) 75 watts
(3) 550 watts

9)/7 35 watts

@ Slenderness ratio is the ratio of effective
length of column and
(1) Lateral dimension of a column
@ Least radius of gyration of &

column

(3) Maximum radius of gyration of 2
column

(4) None of the above




ﬁh‘f

i The worght of o hady i duwWww.saksh

(D Rotation of the varth

(N FMovoes experienced hy hody in
alimosphera

() Maree of nraetion oxpoerioncad hy
Pt loy

(D ravitational fovee of attraction

townrds the antre of the earth

(m,) 1o bl maodulus of olasticity G

(1 b the dimensions of I/|mmnu!'u

() nereRses wilh prossure

(0t large when fuid s more
compressiblo

(O s independent of prossure and

Vidcosily

17, Modulus of vegilience (s the ratio of
(1) minimum steain energy and unit
vilime
(9 maximum stress enargy and unil
vilume
U prool vesilienos andd unit volume
(1 ventlienee and unit aren
I e wometrie projection of i cirele

(L

(h Cirele

(4 15 pae

(h Hyperbola

41

() Parabola

VSEAAS
[ﬁﬂ}lﬁf\? ?nu- in wlmh the plane passing

through the given point and the north

and south poles intersects the surlnce
of the earth, is called
(1) Arbitrary Meridian
(4y Magnetio Meridian

() T'rue Meridian

(4) None of these

B0, The ratio of lateral strain to the
linear gtrain within elagtic limit is
known ns

(B Young's modulus
(1) Modulus of vigidity
() Modulus of elasticity

(4) Poisson's ratio

@D How can relatively denser object he
made to float on the less dense Tuid ?
(1) By nltering the shape
(2) By altering the forees acting on the
ohject
(1) By altering the shear forcey ncting
an the object

one of the mentioned

www.sakshieducation.com

(A)



82. A draft tube 1s used with
(1) Impulse turbine
(2) Pelton wheel turbine
(3) Reaction turbine

(4) None of the above

83. When several contours coincide, it
indicates
}JJ/A vertical cliff
(2) A valley
(3) A ndge
(4) None of the above

@The soft grade grinding wheels are
denoted by the letters

(1) AtoH
(2)Ito P
3) Qo Z
(49) Ao P

85. mimagi,nrylinedrawnintheﬂuid
in such 2 way that the tangent to any
point gives the direction ion of motion at

VSEAAS

www.sakshieducation.com

The addition of lead, sulphur and

hosphorus to Jow carbon steels,
p

help to
(1) Reduce built up edge

(2) Break up chips
[mprove machina

(4) All of these

bility

87) A right circular cone resFing on
Horizontal Plane on its base is cut by

a section plane parallel to Horizonta

Plane, bisecting its axis. The true

shape of the section 18

(1) Parabola

(2) Hyperbola
llipse
Circle

88. The device used to measure the fluid
pressure is

(1) Hygrometer

(2) Calorimeter
Manometer

(4) Thermometer

89. These are vertical distances above 4
common datum, reference plane or

the point, is calied oo point
1(( Path line (1) Plats
(2) Streak line 27 Elevations
(3) Filament line (3) Traverse
€0 Burcm ne (4) Profiles
www.sakshieducation.com A
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particle and having an angle of 72°

between each and are collinear then

A} The net force acting on the body is
zero :

2) The net force acting on the body s
horizontal -

2 The net force acting on the body is
vertical ‘
) The net force acting on the body is
at an angle of 45°

AP -
31, This type of solid has a polygon for a

base and triangular lateral face that
miersect at a vertex

» Pyramid ne
2) Prism ==
1sC
3) Cone eI
4) Torus
$2. The rate of doing work is known as
. Potential energy
. Kinetic energy
#f.m ” 5
¢ None of these

23

o0. If five forces are acting onm"&ﬁéfés .

e
VSEAAS
ation.com
n a sﬁng v reinforced beam, the

effective depth is measured from 1ts
compression edge to

(1) Trans-axial side of the beam

(2rTensile reinforcement

(3) Neutral axis of the beam

(4) Longitudinal central axis

Cold working of steel 1s defined as
working

(1) At its recrystallisation
temperature

(2) Above its recrystallisation
temperature

(3) Below its recrystallisation
temperature

(4 At two thirds of the melting
temperature of the metal

Centrifugal pumps are used to
transport

(1) Pressure

(2) Speed
(3) Power

W’luid

97. Strain is defined as the ratio of

(1) Change in volume to origina]
volume

(2) Change in length to origina]
length
original cross-sectional are,
the above options

akshieducation.com
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98. Which of the following statement is

o
)?\ scalar is any physical quantity

that can be completely specified by
its magnitude

(2) A vector is any positive or
negative physical quantity that
can be completely specified by its
magnitude ;

(3) A scalar is any physical quantity
that requires both a magnitude
and a direction for its complete

fescriphin

(4) A scalar is any physical quantity
that can be completely specified by
its direction

99. Bernoulli's equation cannot be applied
when the flow is

(1) Rotational
(2) Turbulent
(3) Unsteady
All of the above
"._

"
www.sakshieducation.com
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he streasmis

flow are parallel
« 2
eype of flow can 1 ¢

(1) Steady

(3) High head and high discharge
447 Low head and high discharge

104. This s a line terminated by arrowheads,
indicating the direction and extent of 2
dimension

‘(fl“)/ Dimension line
(2) Extension line
(3) Arrowhead line
(4) Center line

105. A simple circular curve is designated
by the
47 Radius of the curve
(2) Curvature of the curve
(3) Line tangent to the circle

| @ Angle subtended at the centre by s

chord of particular length

on.com

A\
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/
(mh moving with »

, ‘-“nHHIll' W'llwny v' strikes anothe

body of same mass moving with m'”m"
veloeity but in opposite direction, T'he
common velocity of both the bodies
after colligion 18 :

)/\ hody of mass ‘m'

(1) 2v
@y 0
(3) 4v
(4) BY

(07, According to Archimedes principle, if
o body 18 immersed partially or fully
in a fluid then the buoyancy force is

~ the weight of fluid digplaced

by the body.

Ml‘lqunl to

(2) Less than

(3) More than

(1) Unpredictable
108, The following is not included in title
block of drawing sheet.
(1) Sheet No.
(2) Scale
(4 Method of Projection
(1) Size of sheet

109, A gingle point tool has
(1) Rake angle
(2) Cutting angle

(3) Relief angle
yﬁmnﬁdﬂﬁ'

yEEAMS

24
www.sakshieducation.com

Aead 18 L
110, For two vectors A and 15, wHav !
7
","fi.’-’v/

(if they have angle 0 eAwWEED
(1) Al Bl coso
2) IAIBI

(3) WAl Bl) coso

W TAl B sino

111. Shear stress in static fluid 18

S Always 2610
(2) Always maximurnm

(3) Between zero Lo maximurm

(4) Unpredictable

@ Francis turbine is

(] Radial flow turbine
(2) Axial flow turbine
(3) Mixed flow turbine

(4) Inward flow radial type turbine

118. Maximum shear stress in a triangular

gection ABC of height H and base B

occurs at
A
(1) H
(2) H/2 A \
SR

5 HI3

www.saks'hiedliﬂaﬂw.@bﬁi‘

(A)
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114. The periodic ta I\ s
peri dic time ( l) 18 given hy(wlu--rv

® = Angular velocity of particle in
rad/s.)

(1) o/2r

@ 2o

(3) 2nx ®

(4) Yo

@ Initial Flow occurring in a pipeline

when a valve is being opened

suddenly 1s
(1) steady
(,2‘)* unsteady
(.%/vortex

(4) rotational

116. Fluid is a substance that
(1) cannot be subjected to shear forces
(2) always expands until it fills any
container
(3) has the same shear stress at a point
regardless of its motion

tannot remain at rest under action

of any shear force

117. Continuous chips with built up edge
are formed during machining of

(IJ/ Brittle metals
(2) Ductile metals

(3) Hard metals
(4) Soft metals

www.sakshieducation.com
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118. The coefficient of friction depend:

upon
(1) Nature of surfaces
(2) Area of contact

(3) Shape of the surfaces

Qk)//‘\ll of the above

119. The viscous force ___ __the
relative motion between the adjacent
layers of a fluid in motion.
(X)/opposes
(2) never affects
(3) facilitates

(4) none of the above

120. Which of the following centrifugal
pumps has higher specific speed than
the others ?

,(/KAxial flow

(2) Radial flow

(3) Mixed flow

(4) All have same specific speed

@ The abrasive slurry used in ultrasonic

machining contains fine particles of
(1) Aluminum oxide
(2) Boron carbide
(3) Silicon carbide
(41 All the above options

(A)

WP e —
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0 & body, when | 126. Reciprocating pump is 8

s strained wi
thin the elastic limits, (" Negative displacement pump

i« kKnown as
(2) Positive digplacement pump

M Strain ene
g (3) Daphragm pump

21 Resihience ,
(4) Emulsion pump

) Proof resilience

0 Modulus of resilience 127. The point of contra-flexure is & point
where

: : (1) Shear force changes sign
11 Which equation must be satisfied while i :
(2) Shear force 18 maximum

Jealing wath fluid flow probl ? .
: ¢ e ,(e‘)/B‘ending moment changes sign

b » i (4) Bending moment is maximum

) Newton's third law

) Law of conservation of momentum

‘ @,A ‘grinding wheel is said to be of
U if the abrasive grains can be

easily dislodged.
A7 Soft grade
(2) Medium grade
(3) Hard grade
(4) None of these

s Continuity equation

129. T,h.memthemd surface generally
' mmmm is known as

(AN




4
Q'{D Centrifugal pump is o
(1) Turbomachinery
w Flow regulating device
(3) Drafting device

(4) Intercooling device

131. The beam having one end free and one
end fixed is called ag

H‘(Cantilever beam

(2) Continuous beam

(3) Overhang beam

(4) Simply supported beam

132. In order that flow takes place between
two points in a pipeline, the differential
pressure between these points must be
more than

(1) Frictional force
(2) Viscosity

(3) Surface friction
47 All of the above

133. What is the moment of inertia of a
circular section ?

(1) nD*/64
(2) n/32
(31 1DY/64

(4) =D*/32

www.sakshieducation.com
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184, The property by which a body
(Y0 ,‘v,””l“’ ’l’

Lo ibn originnl shape nl

(he foree i enlled

(1) Plasticity

M"l;]hmlu iy

(4) Ductility

(4) Malleability
135. Which of these 1# a non hookenn
materinl 7

(1) Steel

()ﬂ{uhimr

4) Aluminium

(4) Copper

136. The point through which the whole
weight of the body acts, irrespective of
it position, 18 known as

(1) Moment of inertia

(}ﬂ sentre of gravity

(%) Centre of percussion

(4) Centre of mass

If three forces acting in one plane upon
a nigid body, keep it in equilibrium,
then they must either

(1) Meet in a point

(2) Be all parallel

(3) At least two of them must meet
Al the above are correct

A
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&'ﬂw continuity e o .
» oty Wm?&o{)‘f BMollowing is 2 vector

with

) Viscous/Unviscous flyid o

) Compressibility of flyide (1) Energy

53)«(,(onservation of mags (2) Mass

) Steady/unsteady flow (3) Momentum
45 Angle

50, The capacity of telescope of prody cing

1 sharp image is called its
143. Foot valves are provided in the sucton

line of a centrifugal pump 10
(1) Avoid priming, every time we Start

(1) Definition
() Brightness

& Sensitivity
1) Magnification the pump
(2) Remove the contaminant present In
140, The graphical representation of [ the liquid
«ariation of axial load on y axis and " (3) Minimize the fluctuation in
wsition of cross-section along x a @ discharge
iscalled as @ cC (e T liad
1) Bending moment dmgram
2) Shear force dmgram
WStress 2 ' | 144. Kinetic friction is the
(1) Tangent of angle between normal

reaction and the resultant of normal

WL The sup
(@) Ratioof limiting friction and normal
(1) More hm'hnlh
u’/[/ess et e
force acting when the




145. Which of the f()llowinu I8 not the unif
of power ?
(1) kW (kilowatt)
(2) hp (horsepower)
w)/kg m/sec

(4) keal/kg sec

146. The product of either force of couple
with the arm of the couple is called

(1) Resultant couple
(2)/Moment of the forces
(3) Resulting couple

(4) Moment of the couple

147. Discharge of a centrifugal pump is

proportional to , where D is

the Impeller Diameter (D).
(1) D
@ D>
(3) D

(4) D.1/D*

www.sakshiedugation.com
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148 'I'h(-1};r-f'a':ar".im’,”l““V”“’"”""”""""""U'

will cause stress 1n the walls in 4
direction normal to the longituding)
axis of cylinder; this stress is called
(1) longitudinal stress

,LZ)/huup stress

(3) yield stress

(4) ultimate stress

149. The fluid coming into the centrifugal
pump is accelerated by
(1) Throttle
(2) Impeller
(3) Nozzle

(4) Governor

150. In drilling aluminum, a drill with
(1) Zero helix angle is used
(2) Low helix angle is used
(3) High helix angle is used

(4) Any helix angle can be used

www.sakshieducation.com

(A)
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